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Section A {58 marka)

For each question from 1 fo 28, four oplions are given. Cne of them is the correct answer. Make
your choice {1, 2, 3 or 4}, Shade the correct oval (1, 2, 3 or 4) on the Optical Answer Sheet.

" 1. Cecllia wants to measure the €emperaturé of hot water in a beaker.

‘Which ona of the following diagrams shows the correct posttion of the
thermometer when taking the temperature reading?




2. - Which one of the following is the best conductor of heat?

(N
(@)
3

ECE

Ametal cup
A paper cup
Aplastic cup

-Aceramic cup -

3. Look at the picture below.

e ——

book on
table

Sue

Which one of the following explains why Sue can see the book on the table?

; Direction
of light




4,

VWhich one of the following can be aitracted by a magnet?

(1
2

iron vod
glass rod

{3} plastic rod

{4y  woodenrod

The diagram shows a painting hanging on a wail.

nail

painting

Steel is used {o make nails bacausa it

!
&
3
{4)

is shiny

is strong

is magnetic
sinks in water



6.

tn the diagram, what is the volume of liquid X7

1)
P4
3
4

50 ml
52ml
6O mi
66 ml

Which animal has a pupa as a stage in its life cycle?

(1)
4
3
4

frog

chicken
mosquito
grasshopper

in which part of the digestive system is digested food absorbed into the blood?

(1)
(2)
(3)
(4)

mouth
stomach

large intestine
small inlestine



10.

The amows ) in the diagram below show the direction of movement of a
substance in plants.

mools — siem e o leaves
What is this substance?

(1} soll .

(2 food
{3)- water

(4) ssed

Which animal is NOT a reptile?




11. Study the flowchari below.

Does it have hair? Yes

Does it have 3 body
parts?

Which of the following is a possible question for X?

{1} Doesitlayeggs?

{2} Dossitiive onland?
(3) Doesit have scales?
{4) Doesii live in water?



12. Which of the following living things reproduces by seeds?

(1) 2

(3) _ (4)



13. The diagrams below show the life cycles of insects W and Z.

‘ adult
‘ adult 10 days/ \‘
1120 days ¥ L \ _ : -
A pupa egd
A y— egg K ‘/
30 days
Insect W InsectZ

Based on the diagrams above, which of the following statements are not correct?

>

Both insects reproduce by laying eggs.
Insect Z takes a longer time to develop from egg to adult.
The higher the number of stages in the life cycle, the longer the time taken for

an egg to develop into an adult.

A and B only
B and C only
A and C only
A, BandC




14. Jeorry planted green bean seeds in two open plates X and Y.

He placed both plates X and Y by the window but plate Y was placed in a black box as
shown below.

black box

: A«.\h r”ﬁ‘" T

wool

Plate X ‘ " PlateY
Based on his expsarimental set-up shown above, what was the aim of his experiment?

(1}  To find out if light is needed for seeds to grow.

(2} To find out if water is needed for a seed to make food.

(3) Tofind out if presence of light affects the height of the seedling.
{4) Tofind out if presence of water affects the height of the seedling.

15. Sam used a hammer to hit the ron nail into the wall,

worn nail

‘! part W

hammer

Which of the following correctly states the properties of part W?

strong T flexible
(1) no no
{2) no ves
{3) yes yes
{4 yes no




16.  Kumar wanted to find out which materials, W, Y and Z, are magnetic.
He prepared the set-ups as shown below.

He held the same bar magnet above each set-up as shown below and made
the folfowing observations.

bar magnet —

Based on his observations, which of the following best describes the magnetic
property of materials W, Y and 2?

Is the material magnetic or nbn-magneﬁc?
Magnetic Non-magnetic Mot possibla 1o tell
(1) Y w Z
2 Y z W
(3) W Y Z
4 Zz Y w

10



17.  The diagram shows g model frain used in 2 Science p;'oje;::t

Bars AB and CD are used 1o help the train “float” above the base as shown in

the diagram below,
B S R A
A
C
base

Which of the followlng shows the magnetic poles of bars AB and CD?

A B C B
P N s N s
Q N ] 3 N
R S N N S
s S N S N
{1} Ponly
2y Gonly

{3} PandS only
{4} RandSonly

1



18. The diagram below show a compass.

shaded part of the
needle points to the
North

Four bar magnets were arranged such that they are attracted to one another. A
compass was then placed near the end P and the direction of the compass needle is as

shown below,
P

()

;
A

What would be the direction of the needle when the compass was placed at Q7

(1} 2
3} 4}
=

12



18. Study the slectromagnet shown below.

i 5. iron bar

- colis of wire

ma{?" é/

steet clips

S S W N K
A S 3 e o N ¥

Which one of the following actions would reduce the number of steel clips attracted to
the electromagnet?

{1) move the eleciromagnet nearer to tha tray
{2) increase the number of sieel clips in the tray
{3} connsct another battery to the elactromagnst
{4} coil less turns of the wire around the iron bar

20. The diagram below shows a bird trying to drink water from a cup.

—  blrd
cup

water

The bird drops rocks into the cup until the water lavel rises to the lop.
Which of the following can be concluded from the rise in water level?

(1} Solids have mass.

{2) Solids occupy space.

(3} Solids have fixed shape.

(4) Solids have no fixed volume.



21, Study the diagrams below carefully.

A, B and C are blocks made from the same material. Sarah then placed A, BandCina
measuring cylinder filled with water.

She recorded her ocbsarvations in the table below.

Object | Initiat volume of water bafore Final volume of water with
object is placed In the object placed in the measuring
measuring cylinder {ml) _cylinder {ml)
50 8@
B 50 59
50 75

Which of the following is correct?

Largest Mass Smaliest Volume
(1) B B
{(2) B c
(3) C B
(4) c A

14



22. The diagram shows a fully inflated bouncy castle. The volume of the bouncy castle
when it Is fully inflated is 500 cm?,

Air is pumped into a deflated bouncy castie until it is fully inflated.

Which graph accurately shows the change in the volume of air?

Volume of air (em®)
F-
L R’
e time
n
\oluras of air (tm®)
-3
500 - -
» time

(3}

15

Volume of air {cm?)
2%

s time

(2}

Volume of air (om?)
&
5O +f-nremmrenas

» time

@)



23. The diagram below shows a metal rod being supported by two wooden blocks.

Four similar pieces of wax, K, L, M and N, were attached 1o the rod. A heat
source was then placed on the izble below the metal rod.

way S S :
N L .M o N - mefalrod -
' S— ; - el

K
S

{able  E— wooden block

A B € D

1 .
oo r

The erder in which the wax pieces fell from the rod was recorded in the table
below.

Wax Time taken for the wax pieces to fall
from: the rod(s)
K 40
L 28
] 17
M B3

At which position, A, B, C or D, on the table was the heat source placed?

1 A
) B
@ ¢
(4 D

16



Alison was eating ice cream in a cup, using a spoon to scoop the ice cream into
her mouth.

ice cream

Which of the following about the heat transfer between the cup, ice cream and
Allson is correct?

lce cream Cup Alison’s mouth
1) gained heat lost heat lost heat
2 gained heat gained heat ~ lostheat
(3) lost heat lost heat gained heat
(4 tost heat gained heat gained heat

17



Evan poured the same volume of water from cups E and F into an empty.cup G
as shown in the diagram below.

cup &

Which of the following is most likely the temperature of water in cup G right after
the water is pourad?

(1) 28°C
(2) 30°C
(3) 55°C
@ 10°C

28. Four metal blocks were heated o a temperature of 80°C. Each block was

dropped into a beaker of water. Each beaker contained a different amount of
water, at a different temperature, as shown below.

e o e

L T

2 S

oo [ ey

--------------
..............

Besker A

Beaker 8

Beaker C Beaker D
100mi 50mi 100ml H0mi
80°C 20°C 2°C 80°C

In which beaker would the water show the largest increase in temperature?

) A
2 B
@ ¢
4 D

18



27. Derek iried to form different shadows of object X by using a torchlight and a screen.

screen

object X

. tcrthight

Which one of the following shadows cannot be formed by object X on the screen?
(1) )

&) )

19



28. One night, Alan walked from point A to C, passing a lamp post at point B as shown in
the diagram below.

A‘ B C
if the only light source nearby was the lamp post, which one of the graphs below shows
how the length of Alan’s shadow changes from points Ato C?

(1) (2)
A F-%
Length of Lengih of
shadcwv shadow
(m) {m)
A B C A B €
(3) (4)
¥ 2
Length of Length of
shadow shadow
{m) {m)
A B C A B C
End of Booklet A
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Section B (44 marks)

For questions 29 to 41, write your answers in the space provided.

The number of marks avallable Is shown in brackets [ ] at the end of each question or part

question.

20, Jill observed and grouped somea things as shown in the table.

G H
lion marble
garthworm umbrelia
mushiroom pencil

What are the suitable headings for G and H?

Group G -

Group H -

30. Draw lines to match the three organ systemns to their funclions.

organ systems

respiratory
sysiem

circulatory
system
skeletal

system

2023 P4 8C End of Year Exam

functions
supporls our body and
gives il shape

breaks down food inlo
simpler substances

takes ak into and out of the

body

transports digested food,

water and oxygen to all
paris of the body

(23

[31




. Tick (V) in the box if each of the following has a definite shape and f or a definite  [3]

volume.
has definite has definite
shape volume
@ mik . [] ..
(b) plastic bottle ! O
() air O O
32.  Look at the pictures. Tick (v) the sources of light. 2]
mirror
lamp
AN
2023 P4 SC End of Year Exam




33. John placed four similar plants in identical jars, each containing water at the same
tevel as shown in the dizgram below.

He then placed all the plants next to the window for 2n hour,

plastic cover
\——fF

rools ] -:.:
layer / -l - - wrapped N d -
of oil - e h = in plastic g | .
LN AT bag X%
water—— 7| s el C T
P :

Set-up A Set-up B Set-up C Set-up D

(a) Which two set-ups should be compared ta show that the reots of the plant absorb 2]
water? Give a reason for your answer.

{b} John conducted another experiment using set-ups Aand B. 1]
He measured the height of water level, i1, for both set-ups at the end of the
experiment. What was John trving to find out from this experiment?

{c) State another function of the roots. [11

2023 P4 8C End of Year Exam
- 3




34.  Study the classification diagram below.

Wild Cats

]

i

Plain hair

[

1

1

Hairwith pattems -

N

‘Light colourad hai?

Dark coloured hair

i
P

]

Q

Spots

Stripes

The diagram below shows a type of wild cat,

{a) Which animal, P, Q, R or S, represents the wild cat shown above?

(b} Which animal group do wild cats belong to? Suggest 2 reasons for your answer, [1]

{c) Based only on the information given in the classifica

similarities between animals Q and R.

Similarity 1:

tion diagram, state two

Similarity 2:

2023 P4 SC End of Year Exam




Duestion 34 continued

Tha diagram below shows animal W.

{d) Stale if animal W can be placed in the classification diagram given.

Explain your answer.

[

2023 P4 8C End of Year Exam
- 5




35.  Study the table below carefully.

Characteristic
. Haslegs Can swim Ableto Lays eggs .
o -breathein | :
water -
- Animal P v v o
Anlmal Q v v v

A tick (v') indicates the presence of the characteristic.

Uaa oniy the Information given iii the table above to answer the questions

below.
{a) State two similarities between animals P and Q. 13
(b) Based on the information given above, Maran concluded that animal Q is definitely

an insect,

Do you agree with Maran? Explain your answer. 1]
{c) Animal Q does not live in the water. Suggest a reason for this. &}

2023 P4 SC End of Year Exam




the type of material affects the strength of the chair.

Sha placed some welghis on tham and measured the number of 5-kg weights the

chairs could hold before they broke, She camled cul the sxperdment three fimes for

egch chair.

She recordad her observations in the table below.

35. There wera 3 chairs made of different matetials. Goldilocks wanted to find ol #

Humber of welghts on the chalr hefore It broke
Materlal Trial 4 Trial 2 Trial 3
A 4 5 3
B 7 9 7
C 2 1 1

Based on the above results, which material, A, B or C, Is most suitable for making

a bookshelf?

Explain vour answer.

(2l

Siale the variable Goldilocks changed in this experiment.

1

Suggest why Goldilocks carried out the experiment thrice for each material,

(1

2023 P4 SC End of Yaar Exam




37. Rebecca placed a piece of tissue at the bottom of a cup and turmed the cup over.

Next, she placed the cup in a basin of water as seen in the diagram below. She
observed that the tissue paper remained dry.

>-’basin——-———\_*" A
S aup—

tissue paper .

water

(a) Explain why the tissue paper remained dry. [2}

Rebecca decided to poke some holes at the base of the cup as seen in the

diagram below.
yles
(b) Draw the water level that Rebecca would chserve in the diagram below. [2]

2023 P4 8C End of Year Exam




38.  Jun iKai had two glasses, P and Q, that were stuck togsther. He tried taking them
apart using his hands but was unable to do so. He then placed both glasses ina
basin as shown in the diagram below.

0

ey

V basin

Jun Kai decided to add hot water and lce cubes to the ahove setup to separate
the two glasses,

glass P
glass Q

v/

{a) Fillin the boxes (i} and (i) in the above diagram with hot water or ice-cubes
correctly so that the two glasses can be separated easily.

(b) Explain your answers in (a).

box (i):

[2]

7

box (ii):

2023 P4 SC End of Year Exam




39.  Roger conducted an experiment using four rods of equal length and thickness but made
of different materials, P, Q. Rand S. .

A pea was attached to the end of each rod using the same amount of wax.

The four rods were attached o a metal container filled with hot water that heats up gach

rod as shown in the diagram below.
hot water ’
metal container o
) Vi v
& )
™ P
wax pea

The time was recorded for the pea to fall from each rod as shown in the table

below.
Material of rod Time taken for pea to fall {s)
P T30
Q | 65
R o 100
] 80

{a) Arrange the four materials P, Q, R and S, stariing from the poorest conductor of 1]

heat.
Poorast Best
conductor - -2 > conducior
of heat of heat
2023 P4 SC End of Year Exam
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Suestion 35 continued

{b) Which of the following variables should be kept the same to ensure & fair {11
experiment? Tick {¥) the correct varable(s).

(i)  material of the rod

(i) amount of wax added to ¢ach
o rod

(i} distance between hot water and
pea :

Roger wanted to use a frying pan to fry an egg safely.

{c) Based on the results of his experiment, which material P, Q, R and 8 should be 2
used to make the handle of the frying pan?

Explain why.

2023 P4 5C End of Year Exam
11




40. Isaiah placed three rectangular sheets of different materials, X, ¥ and Z, in a straight
line as shown below.

= Qe

A square was out out in the centre of Y and a circle was cut out in the cenire of
material Z as shown in the diagram below.

When the torch was swilched on, a shadow was projected onto the screen as shown

screen

below.
(a) State how a shadow is formed. [1}
{b)  Which material allows 1]

(i) most light to pass through?

(ii} least light o pass through?

2023 P4 SC End of Year Exam
12




Questlon 40 contlnued

tszizh needed to wear a palr of sunglasses to profect his vision, so that he could see objects
without hurting his eyes on sunny days.

fens

{c} Based on the answer given in (b), which of the materials X, Y, or Z, is most suitable for  [2]
making the iens of the sunglasses?

Explain why.

2023 P4 5C End of Year Exam
13




41. The diagram below shows a bag of patate chips.

(a) Name the 2 states of matter found inside the bag. [1}

(b) The mass of the bag of potato chips is 150 grams. [1]
Wili the mass of the potato chips be greater than, equal to or less than 150 grams?

{c) Explain your answer in (b), 1

End of Booklet B

2023 P4 8C End of Year Exam
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4G Corraction Sheet for P4 SA2

33a) [Aand C. T
The gnlv changed variable is whether the roots come in contact with \Lyater
b) I
To find out how amountof __leaves affect the a int of v Lo
rools. et SAVES mount of water~ taken in by the plants /
c) | Toanchor the plant to the ground firmly. B
34a) | S —
b) | Mammals . Thay have hair / give birth to young alive / they feed their Young with mik (ary 3)
¢} | Both animals are wild cats. Both animals have hair. ““—J,
3 [ No. Explanation: Animal W is nol a wild cat. D
Animal W is a bird OR Animal W has feathers OR Animal W lays edgss OR Animal W has 2legs
35a) | Both animals P and Q can swim and reproduce by laying eggs .
No, he needs to confirm that the number of ___legs animalQhas g5,
c) |Hlsnotableto _breathe _in the waler as It does not have gills or mygiat skin
36 a) | Material B. It withstood the most number of weights on the chair beforg i broke. 71t is IR
strongest material so it will be able to hold the greatest number of bgyokg on the bé?)}t(szeif
b) | type of material e
¢) | Toimprove the reliability of the results
3ta) | =
There was air occupying the space inside the cup . Air was not able to __escape /
trapped inside the cup. This prevents the water from taking up more \Em i was
the water from displacing the air in the cup. n the cup /
"1\ /
\ [ \ ]
38 a) | {i)ice cubes {ji) hot water B
b) | o
The glass cup P oses heat to the ice and contracts. The glag -
heat_ from the hot water and gxpands. . scup Q__gain
3va) IRS QP .
b) (i) and (i) ST
¢) | Material R. Material R is the poorest conductor of ___heat The time
fallisthe _ longest . —edl. - 1@ time taken for the pea to
The handle will conduct heat the slowest / from the flame to the handsg,
40 a) | A shadow is formed when light is blocked by an ebject. T
by | (i)Maternal X (ii) Material Y ' T
¢} |Z.Zblocks some light from entering from entering his eyes so that hi"s‘”g,,es were not get hurt
41 a) | Gas and solid B
b) | Lessthan 150 grams B ]

Air / gas has mass.




